
motobilt.com | 334-219-2333

MB5081 - Assembly Instructions Chainsaw Mount

REV: 

1

 MB5081 CHAINSAW MOUNT 



MB5081-01

MB5081-04

MB5081-05

Qty 2

1/4"-20 - Nylon Insert Locknut

Qty 4

1/4-20 x 1" Hex Bolt 

Qty 4

1/4 Flat Washer 

Qty 8

MB8004_5081

Qty 1

10-24 x 1/2"  Button Head Cap Screw

Qty 3

motobilt.com | 334-219-2333

MB5081 - Shipping Chainsaw Mount

REV: 

2

CONTENTS



motobilt.com | 334-219-2333

MB5081 - Assembly Instructions Chainsaw Mount

REV: 

3

INSERT MB5081-04 IN TO SLOT AND SECURE WITH PROVIDED FASTENERS

MB5081-04

        10-25 x 1/2" 

Button Head Cap Screw



motobilt.com | 334-219-2333

MB5081 - Assembly Instructions Chainsaw Mount

REV: 

4

MB5081-05

1/4-20 x 1" Hex Bolt 

1/4 Flat Washer 

1/4"-20 - Nylon Insert Locknut

SECURE MOUNT WITH PROVIDED FASTENERS.  



motobilt.com | 334-219-2333

MB5081 - Assembly Instructions Chainsaw Mount

REV: 

5

INSERT CHAINSAW IN TO MOUNT 

AND USE PROVIDED KNOB

 TO TIGHTLY SECURE IN MOUNT. 

MB8004_5081



motobilt.com | 334-219-2333

MB5081 - Assembly Instructions Chainsaw Mount

REV: 

6


